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QT 3397 :
G) gl @vel & @4t yeT AT & |
(i) U9 J97 & [HERT 3% 398 qrgd R 1 §

(i) ¥¥7 &I 1~ 5 97 16 — 20 3fad TFHRIHE F97 &, 5780 F9% #7 1 3% & |
§9HT Yo &1 I Uk JTaFT H 57 37957 8 |

(iv) %7 &I 6- 8 3K 21 - 23 TFHIHF J97 8, [0 J89% & 3 3% & /
Jedh &1 I GIHTIT: 60 Ieq] & 37fer 787 17 =iy |

(v)  TP7 G&IT9 - 11 37K 24 - 26 Y} TFHIHS J97 8, 15770 T39% & 4 3% & |
Jedh &1 I GIHTIT: 70 Ieq] & 37fer 781 17 =iisq |

(vi) ¥ G&IT 12-15 3R 27- 80 3 ITIcHS 397 8, 577 39% & 6 3%
g | Ye9% &7 I G 100 Isq] & 37ferw 787 817 =iisyq |

(vii) I GIET TIT FEIIHF &1 TNRT TIT IIEYT FT &1 T Ioq FH7 3 SIFld
&7 few S Tifw |

General Instructions :
(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each question.

(iii) Question Nos. 1 -5 and 16 — 20 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv) Question Nos. 6 -8 and 21 - 23 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Question Nos. 9 — 11 and 24 - 26 are also short-answer questions

carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Question Nos. 12 - 15 and 27 - 30 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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wis A
SECTION A

T &G ! HIT o S) H His W awhed YOI AT ST & 56 399 FEfaiad s
15 21 (W& forehe i) 1
(37) g I Hmd

(%) =g 1 e

(®) w9g smEfy

(7) SwEw wft

Any statement about demand for a good is considered complete only
when the following is/are mentioned in it (Choose the correct
alternative) :

(a)  Price of the good

(b)  Quantity of the good
(c) Period of time

(d)  All of the above

= Tafy grn v axg i gt 1 9w 39 feufa ° e Smar @ 59 afe (w&
faepe gfo) 1
(31) a%g <t hma Rt 2, 9 39 W 2T 96T 7

(9) a%g i hma Rt 8, O 39 W = gl 3

(@) g s hmd AR B, @ 369 W T 981 @l 2

(g) a%q hl S| Sedl 8, a 39 W T H2dl 7

Demand for a good is termed inelastic through the expenditure approach
when if (Choose the correct alternative)

(a)  Price of the good falls, expenditure on it rises
(b)  Price of the good falls, expenditure on it falls
(c) Price of the good falls, expenditure on it remains unchanged

(d)  Price of the good rises, expenditure on it falls

I g <hl gftamT ST | 1

Define indifference curve.
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4. T Toshdl &1 SR $ITd T I I9E 7g7 gl (Tl faehed giHu) 1

(31) qui wfefirar &

(%) uHIemR §

(@) R SR §
(7) SHEw it A

A seller cannot influence the market price under (Choose the correct
alternative)

(a)  Perfect competition
(b)  Monopoly
(c) Monopolistic competition

(d) All of the above

5.  UhIIhNIcHS JIqAITIdT shl hig Teh faIvdl sId1sU | 1

State any one feature of monopolistic competition.

6.  3cUTed Gyt T o1 31 3R 3Ehl famivamd sqrsu | 3

Give the meaning and characteristics of production possibility frontier.

7. “%8 I H <h THEIT THTSU | 3

Explain the problem of “how to produce”.

8.  UH I%g hl AN H Jhg AR WA § ghg & = Hg HIT | 3
YT
T BT AN 5 W@ % Y HHLATET | 3

Distinguish between ‘increase in demand’ and ‘increase in quantity
demanded’ of a good.

OR
Explain the meaning of ‘Budget set’ and ‘Budget line’.
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9. U TEAHS IR < HEdl 9 BEAM HHd IfdEmq et ot 37
qydnsa | 4

Explain with the help of a numerical example, the meaning of
diminishing marginal rate of substitution.

10. ST9R gfd 6 gimn §fe | ‘smrat Y had’ e 6 e i e

SR gfd § qiE &l HJhd & | 4
ST

e shad Tsh AT <hl SIS <h! AT ST ITdT 8 3T I ANl I R

@ A1 &, a1 Hid 3cag 3T et Icd1g T I SFGgR BT 2 TSy | 4

Define market supply. Explain the factor ‘input prices’ that can cause a
change in supply.

OR

Give the behaviour of marginal product and total product as more and
more units of only one input are employed while keeping other inputs as

constant.

11. 9O Sfafrar 1 “STeR o 91 ° Ul S foeiar s s HiT | 4
Explain “perfect knowledge about the markets” feature of perfect
competition.

12. 9 T a%] sl $Hd T 10 Ui $H1E T Fgeht T 12 fd 318 Bidt 7, I 8eh!
AMT-ATET 20 fAed A B ATt g | 39ehl HITT <hl hiAd M= ol Yieheld
Hifve | gfe sEeht Fmd T 10 Ufd 3HE T IR T 13 Ui 3H1S & I, o
STkl ATT-ATN | fohd gfawrd afted= grm 2 6

When the price of a good rises from ¥ 10 per unit to ¥ 12 per unit, its

quantity demanded falls by 20 percent. Calculate its price elasticity of
demand. How much would be the percentage change in its quantity

demanded, if the price rises from ¥ 10 per unit to ¥ 13 per unit ?
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13. FHfaRaad darfereht st QU hINT
A | 3ted | dwa | s Hraa
(zFmel) | R | @@ (3) | ufadt | @ ()
AT (T) A (%)
1 60 20
2 19
3 20 18
4 18
5 12 31
Complete the following table :
Output | Average | Marginal | Average | Average
(units) Fixed | Cost (%) | Variable | Cost (%)
Cost (%) Cost (%)
1 60 20
2 19
3 20 18
4 18
5 12 31
14. T ®H 6l Ha AFG 3R Fa gufed (M) i Ffefea aiferest & i
AN SR Hira wwita fafa grr 3eae &1 9 R AW HINT M8 W e
e B gf | 319 TR % foe swer i | 6
3G | e WU | A AN
(7)) | (M) R) | ()
1 10 8
2 18 15
3 24 21
4 28 25
5 30 33
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15.

16.

58/1

From the following total cost and total revenue schedule of a firm, find
out the level of output, using marginal cost and marginal revenue
approach, at which the firm would be in equilibrium. Give reasons for
your answer.

Output Total Total
(units) | Revenue () | Cost (%)
1 10 8
2 18 15
3 24 21
4 28 25
5 30 33

9 TR 3T 3TqUf STedTfhR & o9 STt STy | STeqTeR i “wai

& ot g ffrar” fomiwar bt samen oft hifse | 6
U7

T qIfciehT <l HERIaT § Wi oTfue o qfd sfe % o1 wWemsT | $

T EHd T T e HIR | 6

Distinguish between perfect oligopoly and imperfect oligopoly. Also
explain the “interdependence between the firms” feature of oligopoly.

OR

Explain the meaning of excess demand and excess supply with the help
of a schedule. Explain their effect on equilibrium price.

Qus d
SECTION B

| ST H e @ (Fa! fashen i) 1
(1) o=d Wi TET R Frafe S

(9) <=a @rar SHE R =] G SHd

(@) =T @A S iR wrafy s

(3) @ gehR i AT
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Demand deposits include (Choose the correct alternative)
(a)  Saving account deposits and fixed deposits

(b)  Saving account deposits and current account deposits
(c) Current account deposits and fixed deposits

(d)  All types of deposits

17. €T ITHA Ygia i giem S | 1

Define marginal propensity to consume.

18. IR €wrd IUHM g €T =d Ygfd & MU 7, q Tk H qod (Fal

forea gfw) 1
(31) 2T Afees g

(d) 2T &7 B

(@) 2 SIS B8

(2) 5% SR BT

If the marginal propensity to consume is greater than marginal
propensity to save, the value of the multiplier will be (Choose the correct
alternative)

(a)  greater than 2
(b)  less than 2

(c) equal to 2

(d equaltob

19. TR g9e i gl N | 1

Define Government budget.

20. <RI YT o YoIg™ I F1 39 g ? 1
What is meant by depreciation of domestic currency ?
21. T 3GEL0T ohl FETAAT § I&g3Al i A" IEG3T IR Aead awgail H arfiehd

T HT YR THATST | 3
Explain with the help of an example, the basis of classifying goods into

final goods and intermediate goods.
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22. ol yorelt & ST=aria 3 aTelt “Ordfa g= R H ShiedATs. HHET
9]

g3 | 3
HAgAT
o1 & “fafa 1 memm” R augmsu | 3
Explain “difficulty in storing wealth” problem faced in the barter system
of exchange.
OR

Explain the “medium of exchange” function of money.

23. oI HU N Y HU H Ue hiIfNIT | Tceh T Teh IETEWI ST | 3

Distinguish between direct taxes and indirect taxes. Give an example of
each.

24, HSIT Sk b “Jhl hI Sk HE hl SATEAT HIY | 4
AT
TUTfSIes Senl g0 |rg At <A1 gfshan <Al samen hifST | 4

Explain the “bankers’ bank” function of the central bank.

OR
Explain the process of credit creation by commercial banks.

25. T dyawen gger H g | Fefafea siieel @ Hmrd s=a yafa o afeheq

HITT : 4
() AT =10,000
(§) &I 399 = 500
() 399N = = 8,000
An economy is in equilibrium. From the following data, calculate the
marginal propensity to save :
(a) Income = 10,000
(b)  Autonomous consumption = 500
(c) Consumption expenditure = 8,000
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26. doygryr H e TR A U M 9 S HEES §l Hhdl @ ?
HHHATSU | 4

Explain how government budget can be helpful in bringing economic
stabilization in the economy.

27. TAH Hged of@l o (31) Ie @Al AR GSd @rar & s, 991 (9) w0
(TaTra) |iel IR TURIS 2q gl o o9 9 $Ifr | 6

Distinguish (a) between current account and capital account, and
(b) between autonomous transactions and accommodating transactions
of balance of payments account.

28. =¥ fafa g Uf g 1 3R A FHA S HEHTHAT SRl ST =T
3Teh! =TT T | 6

AT

1 fAfARad ol WRd o <RiF 3cae T I foham S 2 319 3T & e
HIT AT | 6
(37) wRa # faesft swrafaat gro etfsta o

(9) 9RA H S gaEE H HRRG HRART o o

(|) R T & i U § Uk I gy Ifia ey

Explain the precautions that should be taken while estimating national

income by expenditure method.

OR

Will the following be included in the domestic product of India ? Give
reasons for your answer.

(a)  Profits earned by foreign companies in India
(b)  Salaries of Indians working in the Russian Embassy in India

(c) Profits earned by a branch of State Bank of India in Japan
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29.
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(1) Ug o, d9n (9) Faa T w1 giteheH i 6

()  HESTNET T UTRSTHh

(i)  TeRtmm
(iii)) ¥
(iv) THI
(v) =N

(vi) Eafrnfsdt b fufsa sma
(vii) Taesi sl faa e 31

(viii) Tra« fata
(ix) I Tcaer s
x) HoIgH

(xi) Tacer =i Faa = geama

(T &gl 7)

2,000
400
900
100
500
7,000
50
60
300
150
30

Calculate (a) National Income, and (b) Net National Disposable Income :

1) Compensation of employees
(ii)) Rent

(ii1) Profit

(iv) Dividend

(v)  Interest

(vi) Mixed income of self-employed
(vii) Net factor income to abroad
(viii) Net exports

(ix) Net indirect taxes

(x) Depreciation

(xi) Net current transfers to abroad

11

(< in crores)

2,000
400
900
100
500
7,000
50
60
300
150
30
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30. Tou TU I 3k W §9d A5k I i B [T T aTel SheHi shl TRET T
shifsre | Warfes =1 3= i | 6

Given a consumption curve, outline the steps required to be taken in
deriving a saving curve from it. Use diagram.

e ETfeTiad 97 Fa giggia ahemaal & 1org Jo7 J&7 30 & T W& |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 30.

TSR T Aqed i 2l dehfeush 314 aarsy | Afg refeasen gged | 7 |1,
1 B ! GHTEAT Bl 8 ? THATST | 6

Give two alternative conditions of national income equilibrium. Explain
what is likely to happen, if the economy is not in equilibrium.
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